TY Semicondutur®

Product specification

TO-126 Plastic-Encapsulate Transistors

BD140 TRANSISTOR (PNP)

TO - 126
FEATURES
® High Current 1. EMITTER

® Complement To BD139 2. COLLECTOR

3. BASE
MAXIMUM RATINGS (T,=25°C unless otherwise noted)

Symbol Parameter Value Unit
Vceo Collector-Base Voltage -80 \
Vceo Collector-Emitter Voltage -80 \Y;
Veso Emitter-Base Voltage -5 V

Ic Collector Current -1.5 A
Pc Collector Power Dissipation 1.25 w
Roasa Thermal Resistance From Junction To Ambient 100 ‘C/wW
T Junction Temperature 150 ’C
Tstg Storage Temperature -55~+150 °C

ELECTRICAL CHARACTERISTICS (T,=25°C unless otherwise specified)

Parameter Symbol Test conditions | Min Typ Max Unit
Collector-base breakdown voltage V@Rr)cBO Ic=-0.1mA,lg=0 -80 \Y,
Collector-emitter sustaining voltage VCEO(SUS)* Ic=-0.03A,1g=0 -80 \Y,
Emitter-base breakdown voltage V(BR)EBO Ile=-0.1mA,1c=0 -5 \Y
Collector cut-off current Iceo Vep=-30V,lg=0 -0.1 uA
Emitter cut-off current leBO Veg=-5V,1c=0 -10 uA

heeqr) Vee=-2V, lc=-150mA 40 250
DC current gain heee) Vee=-2V, lc=-5mA 25
hee@) Vee=-2V, lc=-500mA 25
Collector-emitter saturation voltage VCE(Sa,)* Ic=-500mA, Ig=-50mA -0.5 Vv
Base-emitter voltage Vae Vce=-2V, Ic=-500mA -1 \Y;
*Pulse test: pulse width <350us, duty cycle< 2.0%.
CLASSIFICATION OF heg(y)
RANK 6 10 16
RANGE 40-100 63-160 100-250
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TY Semicondutur®

BD140

Product specification

Static Characteristic
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